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2 -1 0 4 . . Ny

1
1 3
1],showthaxtAZ:[1 2]a.ndA3=[0 1]’

1
01 01
2
IfA={ ai; b },showthatA2=O.
- —ab
cos20 sin20 . 3
IfA:[-—sinZB c0529:| Lfind A . [CBSEZDOQC]
2 -3 -5 -1 3 5
fA=| -1 4 5 |andB=| 1 -3 -5 |,showthat AB=BA=03;,3.
1 -3 -4 -1 3 5
0 ¢ -b o> ab ac
fA=| -c 0 al|andB=|ab %> bc | showthat AB=BA=03,3.
b —a 0 ac bc 2

2 -3 -5 2 -2 -4
IfA=| -1 4 5| andB=| -1 3 4 |,showthatAB=Aand BA=B.

1 -3 -4 1 -2 -3
-1 1 -1 0 4 3

LetA=| 3 -3 3 |andB=| 1 -3 -3 ,computeAZ—Bz.
5 5 5 -1 4 4

For the following matrices verify the associativity of matrix multiplication ie.

(AB) C = A (BC).
- 1
; 120 1

4 2 3 1 -1 1 1 2 -1
(i A=|1 1 2|, B={0 1 2|andC={3 0 1 |
01

W o

¢/ 2 -11 0 0 1

For the following matrices verify the distributivity of matrix multiplication over matrix
additionie. A (B+C)=AB+ AC.

oa-lb 1] o[ S co[? 1]

2 -1
3 01 1 -1
(i) A={_i :12}, B=[1 1] and C=[D 1].

1 0 -2 05 -4
f A= 3 -1 0|,B=|-21 3 and C=| -
-2, .1 1 =1 G 2

A(B-C)=AB-AC.

O =

5
1
1

= oN

}, verify t#

Scanned with CamScanner



